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vFkZ'kkL=k
Economics

(214)

f'k{kd vafdr ewY;kadu&i=k

Tutor Marked Assignment

dqy vad % 20

Max.Marks: 20

fVIi.kh % (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA

Note : All questions are compulsary. The marks allotted for each question are given beside

the questions.

(ii) mÙkj iqfLrdk ds izFke i`"B ij mQij dh vksj viuk uke] vuqØekad] vè;;u dsUnz dk uke vkSj

fo"k; Li"V 'kCnksa eas fyf[k,A

Write your name enrollment numbers, AI name, subject on the top of the first page of

the answer sheet.

1- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

a (a) ^^vFkZ'kkL=k deh vkSj fodYi dk foKku gS** o.kZu dhft,A (ikB&1 ns[ksa)

"Economics is a science of scarcity and choice". Explain. (See Lesson 1)

(b) mnkgj.kksa ds lkFk vFkZ'kkL=k vkSj xSj&vFkZ'kkL=k varj ij çdk'k MkysaA (ikB&2 ns[ksa)

Illustrate the difference between economic and non-economic with examples.

(See Lesson 2)

2. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one out of the following questions in about 40 to 60 words.

(a) vFkZO;oLFkk ,d <k¡pk gS tgk¡ lHkh vkfFkZd xfrfof/;ksa dks vatke fn;k tkrk gSA dSls\ Li"V dhft,A
(ikB&4 ns[ksa)

An economy is a framework where all economic activities are carried out. Explain how?

(See Lesson 4)
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(b) Je xgu çkS|ksfxdh vkSj iwath xgu çkS|ksfxdh ds chp varj dhft,A (ikB&7 ns[ksa)

Distinguish between labour intensive technology and capital intensive technology.

(See Lesson 7)

3. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one out of the following questions in about 40 to 60 words.

(a) D;k vki lger gSa fd ;fn nqyZHk lalk/uksa dk iwjh rjg ls mi;ksx ugha fd;k tkrk gS] rks ;g
lalk/uksa dk viO;; gS\ fVIi.kh dhft,A (ikB&5 ns[ksa)

Do you agree that  if the scarce resources are not utilized fully, it is wastage of resources?

Comment. (See Lesson 5)

(b) oLrqvksa vkSj lsokvksa dh vFkZO;oLFkk esa egRoiw.kZ Hkwfedk gksrh gSA o.kZu dhft,A (ikB&3 ns[ksa)

Goods and services play an important role in an economy. Explain. (See Lesson 3)

4. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one out of the following questions in about 100 to 150 words.

(a) ldkjkRed vFkZ'kkL=k vkn'kZoknh vFkZ'kkL=k ls dSls fHkUu gksrk gS\ budk o.kZu mnkgj.k ds lkFk djsaA
(ikB&1 ns[ksa)

How does positive economics differ from normative economics? Explain with illustrations.

(See Lesson 1)

(b)  lkfgy ,d m|eh cuuk pkgrk gSA ,d m|eh ds :i esa mlds }kjk dkSu&dkSu ls dk;Z fd, tkus dh
vko';drk gS\ (ikB&6 ns[ksa)

Sahil wants to become an entrepreneur. What functions does he need to perform as an

entrepreneur? (See Lesson 6)

5. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A      4

Answer any one out of the following questions in about 100 to 150 words.

(a) ,d dkYifud la[;kRed mnkgj.k@vuqlwph dh lgk;rk ls ekax ds dh O;k[;k djsaA

(ikB&9 ns[ksa)

State and explain the law of demand with the help of a hypothetical numerical example/

schedule. (See Lesson 9)

(b) mnkgj.k dh lgk;rk ls vFkZO;oLFkk dh dsaæh; leL;k dh O;k[;k djsaA (ikB&5 ns[ksa)

Explain the central problem of an economy with the help of an example. (See Lesson 5)
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6. uhps nh xbZ ifj;kstukvksa esa ls dksbZ ,d ifj;kstuk cukb,A      6

Prepare any one project out of the following projects given below.

(a) miHkksDrk vkSj fuekZrk oLrqvksa dh ,d lwph cuk,¡ vkSj mi;ksx ds vk/kj ij ;g le>kus dh dksf'k'k
djsa fd mRiknd oLrqvksa ls miHkksDrk oLrq,¡ dSls fHkUu gSaA (ikB&3 ns[ksa)

Make a list of consumer and producer goods and try to explain how consumer goods

differ from producer goods on the basis of usage. (See Lesson 3)

(b) fuEufyf[kr rkfydk dh enn ls lhekar mRikn vkSj vkSlr mRikn dh x.kuk djsaA (ikB&7 ns[ksa)

Je dh bdkb;k¡ dqy mRikn (bdkb;k¡) lhekar mRikn vkSlr mRikn

0 10

1 15

2 20

3 27

4 36

5 40

Calculate marginal product and average product with the help of the following table.

(See Lesson 7)

Units of labour Total Product (Units) Marginal Product Average Product

0 10

1 15

2 20

3 27

4 36

5 40
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